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 �'-�
��� .�:  

   
�� '��� 
� 	����� ����������
"� �����
   ()� *������� #����� � � �+�
,��
 *	
������ ���+��� -��.�� / ��� ��0 �1�2���� ()��������     ���������)��� 
)�� ')�

� ��
����  
)��� ���3���� #����� '��� � � 4�.��� *���+��� #����� � � 	����
����5, -� �6��
� 7
��� �� �1�.  

   #�)���� 
)� 	���"� ����������� 796 $������ � ��
��� 796 
� ���:��� 
�� �9�
 	
��� ;9���� �1� (+�� 
��� ������� �������"��2�, " 
���  �)6
���< / ��� (������

��1���
 ���������� �� ��3�� -�;9���  ��
 ���  =�
� >9��"�����?."   .  
 
���� >
���� @������� ����� �����? =� � A B< >9��" ;9����� �����
" � �� � � *

  @)���� � ��.���� C�,"�� �< *� ��.�� =������ �1�� (�
� 
��� ��
���� ���D��� -�
��� #� >" ��
���� ���������� ���
�� E����� ��0 =����� F� 
� 
�   �) �  B��)��

 
�� '� >9�� 
��5,��– 5�G�.�H ���59 �& >�+��� #��� � � G������I  F�,  �9)6 '3���
 FD+ ���D� 
� ;9�������2�, ��� ��
�� 
� -� ��.�� / ��� �1��J K���� :  

10  ��1��� �!2#)����� ���04�5����(  
  �6 M��� N?���� -�� ��D��� 79)����9 (� N�?����)Q�J����(  ��9)�� 796� *

Q�J���� -� (��.�� ���, 
� �< (���� ���, 
� -�5� -< ��0*  ���, 
� ���5 �9R�
4�,� �5���� *(��.��� 
� N?�� �1�R� (��.��.  

  � � ����� S�, �� �� 
� '�6 
.�3� ���� (�
�� ��6 
� (+����� ��3�. �
(�.��)énoncés de faire  (��T� �96� *
���� ����� �� ��,� ����B �9 2�)faire 

transformateur( *"    7�)��� 
)� G����)� ��0 2���T� �96 -�5� -< 
���B�� -� �
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��?��� ����� N�, S�9 � *(��.��� A��B 
� �< *(�����")1(.   =)�""  
)��� �
��9 � -5�� 
�
,� � Q�J�� M� ��D� 
� �1�J�� �0�5����")2(* 3�. � >< -< >< 

 Q�J��� ��?���� ��9�� -�� ������� ��D��� S � ;��� 	���J��� �6 ���,� �)1��?�. 
������� ������� ����� 
� -������� -�96 
 +�� 
� 7
1��� �� �96�.  

  
� 9�� ����� -��� -������� -� B��� �1���"
��� "�"��2�,   >�)��� -� 
�,< ��� "
��� � Q�J��� ��95.  

70 ����� 8����� ) ��
�(  
   =���� � � AB�� >9�� A����� ��.�� 
��� =�0  =)�.� -�)B�� -� ����� >��� *

�
��5,�� 7��
 
��� >9��  G�+
,�� ���J���� (��� ��� ' 5����� (B��� -:� -3� E�
����"� 796 <��� ����, *=�.�� =��� =� >��� -� �6 
���:  

  
8��9�� 
* :�;��..8�='� >�;��..8���� 
#�� 
'�� 
*..���! ���*�  
8���� 
����� ��..� ����8�-'-��..8����� 4 
?��� 
*..����� @'�)3(  

  
   � =�� = .5 >9�� ��.�� �6 ��6 
���">���� -� 
�,<"  
���"��2�,"  I=��< 	��� 
��

 ��"�� U"� ����� �1�� ���� =�< >< . 4��� ��1���� 
��� ������� $���< ��D� -5�
=� < -� �+5< �15V ��� *��H #�� > 	��,�� 
� =� -5� '� >9�� 
��� =� -�H �� �96

� � ���� =�?� ��?� G���2 ��2�,� �.3��*   N�)?���� Q�J���� (����� �6�������
 =�� 
� ��9�� /�B -�796 ���$���.  

  ����� �3� �1�� -��(   >
�� 
)� N�� ����D���� /��3�� (5 -R� *��9��
 /��B:� @�� >9�� 
��� (B���"�,��2" (5 =�� N�� >9��� *(������   �)�1� �B�,���

�1��0 N��"� = ��� 
��� ������� $���< ��D� �1�<� � ��.  
   -� (5 ��0 	�� -� 
��< �� (5� ��9 (���5 
��� C
����� ��D��� 796 '5,��

� =��� ��� �,�� =�.� =� (��� =��?� Q�J�� -��"��2�, . " ���
 �W � ��1� S�9 �
(����� S�9 � �< ������� �< 	���� -� ��1� �5�����I��������� ���5��  ��9�� (�� -"

�6
�� -� X���� (�� ���+�� �6 �1��J�� -�.  
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 � G��� -���B�� (�� 
��� 796 �.�"� ��D� (�� . 
� 
�
1���� X� � 
��� �6 �6�
 (����� =���� >9�� �5���(��� ��2�, -�� � =��� A�.�� =�< �3, � -��<:  


���'� 
�$ ��..
��#� A'B : ��..
������ �C�
�..��
��� &���� D'#  
4���� 
�$ ��..4��$$ �� E'��..4�! ����� : ��..����� &���  

����'� 
�$ ��..��� � ��* F��$..��C���� �C�
�..��'# 
�C��  
������ ��7 
�# 
*..�������� (�..���� �C'$�� ��..��� �C�'�� )4(  

  
� 	����"�� '������
� "    

)1� >9)�� �5�)���� (����� ��0 X�J� (5� ���� ��6

��������� �,����� =��?� Q�J�� A��,�.  
      �)�D��� 79)6 
)�� B�.�� ����, -����� ���, 
��� (B��� (�� 
�� (�.����

 ���� 	�6�B��"��2�, "  G�
�5 .��1��,  B�� �< S�
<= �� 1.B��� -� -�5=�� �  G����5
"� =�� � � -�5 -� =���< /�� >9�� (� � 2� Y� �
� =�5� � =�� �6
���� Z�

>
�"� /��5�Y� �
� '��< ���"� ���5��� �96 G�.��� 
��� (���� *:  
  

������ ��7 
�# 
*..�������� (�..���� �C'$�� ��..  ��� �C�'��)5(  
��H '��� 
� =��� �<:  

>���� 
� �G� �..>���� �#�� �...�� ���� 
���..>�� ��� 
'�� )6(  
  

  ��  (��� -90=�
��� 
�
���� ��0"=��?� Q�J�� �"��2�,"*   �)�1��� (�, ����,
�����* ��? /�B�� ��  =)� N�,� -< -�
  ��2�, /B�� >9�� M����" 
��)�  " ><
N��,.  

(0 4�5���� 8����� )�����(  
   
6�">���� -� 
�,< ��� ��2�,"    ��1)�"� /�)B -� N�?���� Q�J����

� 

��� /�B -� ����+ �1� -� � *'1� �1,�� 
� �6��< N?�� -�9�"
��� "  A)�����
 
�
��� � � -��9���� -��B� ��6 � *'����� S������ ��?��� Q�J�� 	
�����.  
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   *��������� ��.B�� (5��� 
���� 	��� 
��� ���� /���� �96 (5 
�� ��2�,�
����� 	
����� 
� 	

��� ��2�� G����
< N� � ���0 �* 
��� �13� F�,/ 
� >�����
=��� (+� 
� ����� G�,�
� � N"� G���9 MB�� -� �+5<:  

  
H���� >�*�� ��..H��1 �� 

�..H���� �� 
��� ���..����1 � H�*�)7(  

  
��<  �1� N������ ��� �1�� � *	
����� � � ����? ��+5 
1�=���:  
  

.����� 
�� I���#..J� �! 
� 
���.. H����J��!..
� 
�������� ��  

K����� 
�� I
-..K�5� 8=��! �..K�� L�'# &
��..�!� 5������  
M���� 8B� &=�� �..M��� I�5����..M����� 
� I���..���C��� 8�#  

���- ��!��� E��..���� ��'  ��..�2� ����..���G� 
!��#�)8(  
  

   �)�� �3)��� (� *���,�� /���"� � ����� 796 
�� ��2�, ��.� /���� � �
�� 2����� -� �  *�6������ ���, (�� � ������� 	<�� � G�2�� �1�. � F�, '+   G�2)��

�������� 	�B� �,� X2�� >9�� -B� �  �6 (�,� ����� *=������ 7���� ���� >9��
	
������ ����"� ����� -� �D�T� � *������ ����� � ��,��� X��B =����� -��.   

  � ���� (��� ��,� 
� ��?� 
6 �	<���� 796 =� / -� A�,�� -� �1�5� *-B���
G������ � G�� ��
 �6�1� N�� (5�� ����� E
��� � � �� 	��+ -�
.   	��)+ �1�< ��?

�����5
�� ������� =�� 
� ��1���� /��J��.  
   ��),��� �91� '2D�� $�
.�� [�5 '�
�� >< I��,J��� ��W� '�� -< -5�� � 	��+

(��:���.  
  
.�� [�5 -< ��?*���.��� � *����
���� 	��+�� 796 (5 
� 
�,��� $�   *��.B�����

� */��J�� ���+�� (B��� C�� ��� *���������"Q�J���� (�����"    -�)� Z.�)����
-�
�, -�5� :
���� 
�\���� N,��)�����( ��9�� (  �)�2�, � � Z��.��� 
�
������

	
������ ����"� �B ��� /�B -�)�5����� (�����.(  
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5� 	<���� G���B ��2�, 
6 	��+�� 791� ��2D�� ��,J�� ���/  �)3.� 
��� -B���
  ()������ ��9�� (����� -� (5 � � ���,� 	
��6 �+� *���5�� �96 
5� -�� �1]�.̂�

*�5�����  �1���, ���� ����,�����:��� ���1��� S �� :G��� -H 
� 	
�1� � 	�,.   
���5 
'�� J����..����$ � ��' ..�=-�  �7 
�����5..����5�� �!�  

��� 
'�� ������..��5�� 
� F���..8�  ������� N��..���
�� 4�
�� N��)9(  

(...)  

��'�� 
� �G���
..
�
���� �����..
�
� ��� 	����..��� 
!��� �  

��=*� 
� �G���
..  ����� 
��1 ���..���� 
�$
��..������ O� �5���  
>���� 
� �G� �..>���� �#�� �..�.�� ���� 
��..��� 
'�� >��  

E��� 
� �G� �..E�P�$ �C$���..E���� ����..���� 8�  
$��)10(  
  

 N�?���� Q�J���� (����� 
1��� �956 �  ��) ,� -� ����B � �   ���
)���� 
)�
 �� 6���� ��  B�� 
� -���W�� ����� ������ '6���
:  

  
(��- �C$��� 
�..(�*�*�� 
5 ��..(����� 
� K
�� 
*..5������� @�  

������� �C$���..���� @�� �-�*..��� ����� �..����� 
�$*��G)11(  
  

  20 8��$�� �!2#)L��Q 8����� � 8����� ���(  
   N?�� �1 �,� ��?� (5 -< G��1�
� Z��.�)�����? XDB�� 
� ��9�� (����� (

 GD)��� �����? =���� M��
 �< S�,� �6$��� -�5� -< � 
� �destinataire  � *
   GD)��� ��)�� ��H (��� ��0 G�1��� -�5� -< 
� � (� =��9� G��2� ��� (��� �6

 =��0destinateur "   	���)J��� �)�� =��0 (����� � (����� -�� (������ ��D� �
Q�J����� ��9�� ��D� >< I��?��� ��D� ���")12(

:  

  
    �    8����                  ����� 8�����        ����1�           L��Q 8�����  
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    >9)�� �6 =��0 (����� � *$
� 
� N?�� ��9�� -� (��� >9�� �6 (������
 Q�J����� ��9 � /����")13(   ()������ ��9�� (����� -�� Q����� �6�� �6 >9��

�5�����.  
      ����)J�� '
)�� � �)1�< �0 �����? BB�� 
� ��D��� 796 
��� '?� �

9 � *	����� 	����   � � *�1��)J�� ()�� � � ��9�� 2.,� (��� 
��� '
�� S�
 F��+�� /�B�� $�.��� '+ *Q�J���� �96 (��� 
���) (�����0 ��9 � /���� >9�� =��

�1��J�� A��,��� 
� �1�� 6:� .   �)������ 
)� C�� ���,�� ��? ������� 796 �
��� �96 �����? =�� 9�< >9�� N��� ����
D� �6

, 
��� �������;9��.  

  30 4����� �!2#):J*����� � 
#����� ���(  
  -�������� -���D��� (��, M�� ��0 ��D��� 796 -� @��� �)   �)�D� � �)�?���

(����� ( ��1���,� � � (���� ��0�.  
     �)�_� � 
��)���� ��
� ��6
,< I-D��� Z����� Q����� ��D� -�J �

 �5����� �< Z������:    �) ��� �) � G�
�< (��� 
��+�� � ��9�� N���� /�� (�"�
Q�J���� � � (��,�� (�< -� �6
�1�.     ��)�D��� (D)� -)� (�,� �956 �

�����? 
�� 
 ����� ;9��� � � ��5�� 	����� � � ������� FD+��)14( :  
  
                    (�����                   =��0 (�����  

               ��9�� (�����          ��?��� Q�J��  
 
������                       �5�����  
  
  ������ (5�� 
��� 
6 ������ (���� ��� -� 3,D� �6 ��5 -�5�� ;9��� �6 �

ADBT� � � >
�� N�B� (5 
� � (� *
5, (5 
� �����"� 	
�����.  
  / -� (5 -�5 �9R�. � *N��� <. ; � 
� �
1��� 
� �����?  
)�1���� B�J�

 *��
�� -� �,��� �96 � � N�B��� 
� �1��.�3� � ����5,�� ������� ���������� 
����� �
  
),< (5�� >9�� *N�B��� 
� >�6���� ������� ��
 ��B:� Z�W� S�9� ����� ���R�

 
� ���6���� -�5�"�"��
�� ����� " =�:� -� �� (5 �1������ 
� /��3��� S � (�,��
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 -<� 

,  ��
��)�� =�� � ��.�� ����� � ��.�3��� ���1�� 
�
,� (D� -� N�B��� ���6
������ � (���� -� -�
���� � (����.  

    ���
)��� -� '6��? �< -�����.�� -�������� �< ����� -���D5��� C
� $��� �
 ��
���� ����� -R� ��
����& $���<5 ����< ��
,� �< /��3� (����&  N�B��� 
� N� �

��� $�J.�� '��� ����B� '���� �6������� G���6�� G���
 >
��� 
)���    ��$�)J� �)�0
 (5 72�,� >9�� 4� ��� � ����� � -� �� (J.� *G����� 	2����� ������ -� 	
,� �< �.�3�

� *��
,��� 796  � �)��D��� '�)��� (J.� 
��B��� $�J.�� 
� =�� � >9�� ��
��  ���)���
� ���������3��� 
��� ��.��
,��� ���� -� �62��� (������ �< 
��� *  �)�5 ������ �1��

C��� ��5 
������ �1��� ���<�.  
70  
#�����) 
��� ����(  

7��
� >9�� �6 � � 
����� 
�):))�A�2((  �̀.� a�5� �13�� =�,�� [������ [���� >9��
����� E��� -��,5:  

J��#� ���
 ����..J�
����� @���...2- ��� @�
�.. ������� 
)15(  
 =�,�� -2,� G�
�5 ����� =���5���� �5��� =�< ��5"
��� " =������ � �"��2�, " 
6 �

��<�    $�)+� 
)� (��� >9�� Cb
.��� (B� � 
�"� A����� �96 /�B -� #D�T� ���H
 7
���:  

K2� �� 
�*'G�..K2$� 
* @���..K�� 
�� 
$-� 
��..��'# E���� �  
8�'$�� H� 
� H
�#..�#�D 8��-�� 8*..8�C�� D�� �����..��'���� ���  

8����� 
� ���� ��..8������ (��#�..8���� ��# ��� �..��� 
'�� L��  
&�
� �� �C� 
��..&��'��� �� D��$..&�� ��B2B 
��..������ ���  

����� �� D��$7..D�� � 

�G��..
��� 
! D$- 
��..� ���� 
���
��  

4�
��� 
� ��
�.. � @���4�! 
$-�..4��� H
� �� K� ..���
 �� @���)16(  
  

 G����� -��,�� B��� �956 �������� MB� >9�� �6 � *=,��� -������� >
.��
 
�5� � ����������1 �� M���� ������ (c�,��� (����� =�< �� ��5 *��
��    �)1� A) ���

G��� 7
��� � =��1�.  >< 7
���� 
�� '� ��1��� 796 
� (�� ����:� (�� � *���� �< ����
������� ����"� ��H 
� =��� 
� ������ 7
�� �� �96:  
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��� 
! 
$- 
��..���
�� 
� ����  

  
 
�"� 
����� -< ><��:�� ����     Q��)���� ()�� � �)�2�, 	��� 
�� =���,

  7�)���� G�
��� ��� >9�� 
����� �96 
� G�
��2 G���� *=���,� $�� � F1� ����B >9�� �
����
  =)���, -� =� (J�< ��1��� $�1���� ����� -�5� *����� 
� -������� =��5� 
,< B����

 	
��2�� ���� � 	
��.���1 �� 
��.  
 S � � (����� ������ ���� � � ��H��1��� � � ,��� $�1���� �
����-�� �� ��-  �

J���� 1 �.� G���+ =���, -� (�:����� ����.  
 �������� 	����� 796 
� �N�?���� Q�J���� (����� >����� >���:��� (�. � 

 =��)��2�, ( 
������ M�)-��,�� ( F�, -� $�����1��J�   ���)���� (��)B   �) ,���
 � 
��� (B��� C
� ���.�� � �������� ��1���� F�, -� �< *�5����� (����� M� �������

 A����� #��� -� 	���"� 	������ 
� =�� 4�.� �� �6:  
  

� ��
� 4�
���..4�! 
$-� � @���..4��� H
� �� K� ..���
 �� @���  

  
   	���� � " :Q�� 
��� � A�2�"  -� /�5�   -�)� �)����� 
� >������  -�9)6

*������ -� -������� -�������  -�9 ��	��,�� 
� =�
��� ���+�� ���5 G�1��� ��1B��� -�5� *
 7���� � 7���� B���� =�
� 	���� �5��� 
�� S�9� *�. 
� � ��� ��95 =���� ��_� �6 


����� 796.   �)�� $��
��� N���� 
�� Q�� ��� G����� �1��� Y� ��0 �1������ =���1� -�5��
 
��"��9�� $�+�" G���9�0 *  S)�9 � *
����� �96 -� #D��� ���� ��3���� *	����� N���

� 'D5 � '��B -� *$����� 
���
 � 	��,�� ��9 � =��
�? ����,=��� 
� *'��:  
I��G 
� 
���..I��'� >
�# ��..I��� �*=$� 
*..����1 L�$�$  
&�� �� >'*�� ��..&�=� 
� ����..&���� D$� &�� �..����# 
�  
���� �� 
��=1�..������� � ��7..���� 
��� N��..����5�� L��)17(  
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(0  J*����� 8�����)����� (7(  

����� 796 
� �5����� (����� (5����  
��� ��
�
����� ���2��� (5 M�" �
��
9�.��� � ����2�� � � �����,��� (������ � [���"� Q2��� � *(D�,�� 	��� (D�")18( .  

 � � ��2�, N< �1����� 
��� ����W�� ����"� �B ��� 
�
���� �
�� ������� S � ���5 �
�� -�,��B�� -������ -����� � $
����� >�9��� N,�� S�9����� ��D � 	�,.  

 	��� �">���� -� 
�,<"  
� >
���� (.,��� �96 
� �5��� (���5 ��2�, N<
  
)� -�+,���� 
,<  M�
 �� �6� * ��,��� 
� (�< (5� M����� ������� 
�� �  d2�� �����

6-���� �9 )� =1���� ��0" : -� ;��2�� 
� 
��� ��?�� �������� '������ �������� �B �
� ��2�, (D����� � ���,�� >< *�1� $�����")19(  .  

 � B��� =���� >9�� >���:��� ������ �� �"��2�, " -� Ǹ�J C�� N�)J< 
 �1���, (���6
�� .-< S�9  
�, ��� ;����� ���+�� �6 
����� N,�� S�9 � � G�
�5 �����

� -< :�� '� >9�� (B��� ����B � � ;��� �6 � *�5����� -� (B� � e�����  �< e)J�
 =���, $�
�< �6
��< 
��� ���1���� �J�� � ���21 � ' ����)�5����� (�����( 
� 
�� (� *

    � ��),��� ���)� ()5 E����� =�� 
�� G�.��� � G��6�B G�����  	��1���� ��2�, ���
	�6�� �B � (5 -� A������.  

 ���� 
��� ������� ���, ��� ���1��� S � *$���5 �� � ���< S� � �   �)�< � �
 
1��� S�9 ����� � *�1��< �B�� �1��J� � ��2�, 'D���� GD+� -�5� -:5 IC��< ���1�

 M� =��B� >9�� �
����"
���."  >9�� -������ >2���� N�1��� IS�9 -� �5��� � � �<
 M� ������ ����� ��? � ���
� ��D� 
� -�������� ;2� -< =�:� -� '���� S ��D�"� ��

 
�����B �� #�,  �)�+����� #����� 
� #�c�f��� � dN�g�f5��    '1)��� $�)1�0 �) �
 �6
���� � �1������.  

 >��)��� N�B��� �96 
� � ����� ���
�� S � (5 -� �/   ()J.� *
)�����

����T� =��1.�� 
�������� N�B��� �� ��� �� ��� *� ��.�� �� ����� �������� .  

	������ 	��+�� 
6 ������� 796 �   �)���� 
��� >9�� *
 ����� ;9����� /�3�� $��� -�
  �)6��0 �1���< 
��� ��� ��� �6�6�3� (5� 
�_� $�.���� � *������ � 
����T� /�3����

�����< 
1������ 
����� M������ 
� /�\���.  
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    -)� G��� � �6��
 -�5 ��1� ������� -:� # ���� ������� 796 -� G��DB�� �

��� ��,����
����� -���� 	����� ��� *��������� � *�������)GD+� �5����� (�����( *

    �)�����T� �)6���3� ()+� �1 +� '6��� �B�� ������
 G����B< �1 ��� 
 ����� ;9����� -R�
 G�������
�0 � G��������)��9�� (����� (����
�� $����� � �5�,�� @��� �5��, 
�-� F�
,h�.  

  (+�� ���5 �9R� � *'+T� (�, ����� -� G����� � ���B��� (���� -� GD���
������ -�9 �� ��6 ���B��� 796 � '+T� �96 -R� *#��� 
� *$D��� � $�
��-�   � *N�)����

  /)�3���� �96 -< 
� -��+� / ��� -< -5�� � 
������ � *>���:��� ������ ��0 -��J.�

����T� �1�1��� ����� � 
 �����)(����� ��9�� (
� ��� �)�5����� (�����(  -)5�� � *

 ����� >< -� (��� -< �0&  -�5 ��1��6��
 �� -���� (��
 G��� �
���&   ��)���
2������ ������0.  

 796 �2��<  ���� ���� -< -5��     Q2�)� >9)�� 
 ��)��� ;9�)���� �1��0 # ��
	�+�� =5 � 
� ��
� ���� 
��� =������ � � (������ � /��3���   �) � 	

����� �1���


�� ����� 7��0 ���� � *= W�� >9�� 
������ $�J.�� (��5� Q����� � *

�� � *�������
.5� ���������� ����B��� ���� 
� /������ ��2� 
����� N�B� � (.5� ���� �1�  
���

 7

�� 
� �1�� (5 (+��"���D� � ����B����0" .  
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>���C��: 

                                                 
��ر ا���� ا�د��، ص  -) 1(�� �� .36)&$� �'&$�ا%� ��$# ا��" ا�! دي 

ا�;�ار ا�< �$;#   . + 0&# 0&4ل )>; ي . إ�9 ا�!$&$84$# ا�! د.# و ا�#$�456 ��23: �0ز.- آ�ر+$* -) 2(

  –��B>Bم %4@ ون 

 . 27ص .2007ا�J5<# ا�و�9 . ���Iرات اEF3Gف

�، دار ا�&4JMح : �� K$�5ن  - ) 3($� .40ص . 1991. ا�QRاQ$( . 8.#، دراP# وO&0 أ)&� ا�

 .S!T%45 ص  –) 4(

 .S!T%45 ص  –) 5(

)6 (–  S!T% 47ص.  

 S!T%38 ص  –) 7(

 .S!T%39 ص  –) 8(

 .S!T%43 ص  –) 9(

 .S!T%47 ص  –) 10(

  .S!T%47 ص  –) 11(

Jean Michel Adam : le récit,  que sais-je .édition P.U.F. Paris 1984 p10 - )12(  

)13 ( - Jean Michel Adam : le récit: p 61 

)14(–  �$&(��� �� .�36ر ا���� ا�د��، ص ا�'&$�ا%� ��$# ا��" ا�! دي 

� ص : �� K$�5ن –)15($� - Q$( -18.# دراP# و O&0 أ)&� ا�

 - S!T% -50 ص  –)16(

 .S!T%51 ص   - )17(

)18(– �B>� 4وي�T( : #.Q$( ة�$MK– و ا�&�ت VI>ا� #. >@ �W #$84$&$P اءة K . 9�FB&ات ا� Y4'�

 Z�4[2  20 - 19)ا�!$&$4ء و ا��" ا�د��(   ا�. W2004أ – ��آB$# ا^داب  –�Iارت K![ ا�دب ا�< �� 

�'&� a!�  <$3 ة  - و ا�<�Bم اF0G&4`$# و ا_%!#$%4 #>� .168ص .  ا�QRا40 -  8

 .S!T%168 ص  –)19(


